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1. (@ Fil up the blanks | %55
(i) The c chemical form of energy of a °

system available for use in work is

known as ——

(i) The hp1ds that contain
e ' cérbohydrate groups are called

L’/ 636 ( Turn. Over)




(2)

(i) Multiple forms of an enzyme that
catalyzes the same reaction are
called ____.

(iv) Retinol is an example of
soluble vitamin.

(v) Synthesis of lagging strand during
replication of DNA is accomplished
in short fragments known as .

(b) Differentiate between the following
(any four :

(i) Free energy and entropy

(i) Saturated and unsaturated fatty
acids '

(@) Glycolysis and Krebs cycle
(iv) Replication and transcription

(v/ mRNA and rRNA

2. What is pH? Write briefly about the buffers
. and mention their role in biological systems.

1+6=7

Or

State the first and . second 'laws, of
therfnodyna‘mics. Discuss their applications
in biochemica} systems.
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2x4=8

2+2*3¢7§§i

744
(3)

3. Why are amino acids called as ampl'noterii N
. molecules? Give a brief classification (1>+6=7
amino acids with examples: p

or

ow they

; ite h
What are polysacchandes? Wri 1467

are classified with examples.

phosphorylation? Where
in a cell? Briefly discuss

. horylation.
ative phosphory 1+41+5=7

What is oxidative
does it take place
the process of oxid

or
d in glycolysis.

TP gained in
£A 6+1=7

Discuss the steps invol":
What js the net number
glycolysis?

What do you
Inhibjtion? Discus
Inhijbition.

f enzyme

S0
s different tyPe 1+6=7

or

What are
function

fat soluble
Deﬁne coenzyme. s. 1+ 1 l//2+4!/2=7

Vitaminsp Mention thel’

-+
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(4)

6. Why is replication of DNA called as
semni-conservative? Write briefly about the
mechanism of DNA replication. ' 2+5=7

Or
What is genetic code? Discuss the properties
of genetic code. 1+6=7
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